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1. Trfafad 3 @ F9-a1/#8-8 w97 98 /27 4. v wE welewd, 2025 A Haifka Feffaa
1. %59 dAbved, WRd &R FO 9§ H ¥ FH-91/3H-8 FUE 98 /27
2023 # UPE G wEgeW e :
1. 39 3299 umie SHEed % wen s
(NGHM) %t sigeifea foman mam o) R o
2. W, ¥ T Vg wREdd e, 3
YRd W&ER 4 9Ra A wE wEeee
IV 1 SR < 21 2. W frfm wmaw o dwwim F
Hr fow e e 1w R IR gR gl % wne w R B
(@) Fad 1 99 faw M 2w wEm =W IW gRw)
(b) FFE 2
(@) Faa 1
(¢) 1 323
(@ FAA13MAH2 R

2. W@ ofR W wH de-affa FE-dee %
FER  ‘YRa-Uee  WHifE  wEed #
Fraifa F0 % fore ewa gu 1 39 =T 99-
iy HE-AE = fAfga Fifsm) (d JI@13mad2
(@) FE-FSAI, 2023-27

(b) FE-ASHI, 2022-26

(¢) 1 3R 23H

5. F=fafes § @ 5w @@ +1 2024 oPcw
(c) FE-ASHI, 2024-28 (tematE ehER fly dmed)-8 ¥ g

(d) FHE-ASH, 2025-29 wer forem T 27

3. ‘FEF ™ wER Ah ¥ st e e (@) T T qieg
JEER, 2024° FR8 wem forn mn?
(@) Wo MiEF=TH T (b) WRET THER T

(b) Tlo HHIHFWH Hio
(c) o 3N Ty
(@) Mo T SR IR () TR T Ren e

(c) TR it TamEfE wfRER awEia
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1. Which of the statements given below

is/are correct?

1. The National Green Hydrogen
Mission (NGHM) was approved by
the Union Cabinet, Government of
India, in the year 2023.

2. The Ministry of Environment,
Forest and Climate Change,
Government of India, has launched
the Green Hydrogen Certification
Scheme of India.

Select the answer using the code given
below.

fa) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

2. India and Poland have agreed to

implement the India-Poland Strategic
Partnership’ in terms of a Five-Year
Action Plan. Identify the current
Five-Year Action Plan.

(a) Action Plan 2023-27
(b) Action Plan 2022-26
(c) Action Plan 2024-28
(d) Action Plan 2025-29

3. Rashtriya Vigyan Puraskar, 2024’ under

the category of Vigyan Ratna Award’
was given to

(a) Prof. Govindarajan Padmanabhan
(b) Dr. Anandharamakrishnan C,
(c) Prof. Umesh Varshney

(d) Prof. Jayant Bhalchandra
Udgaonkar
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4. Which among the following statements

with regard to Grameen Bharat
Mahotsav, 2025 is/are correct?

1. It aims at promoting economic
stability and financial security
among rural population.

2. It focuses on financial inclusion
and supporting sustainable
agricultural practices.

Select the answer using the code given
below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

5. The 2024 OPCW (Organization for the

Prohibition of Chemical Weapons)-
The Hague Award has been conferred
upon which one of the following
organizations?

(a) The Indian Chemical Council
(b) The Indian Chemical Society

(c) The National Authority Chemical
Weapons Convention

(d) Gujarat Fluorochemicals Limited

[P.T.O.



6. Frafafiga # @ ¥9-w1 TS99 9@ T@R &

yaiea fawma vea 1 s T R7
(a) TaEm

(b) BTG

(c) wEE

(d) qfEm s

7. ¥R fafwmin fiem’ % dau & fefaRes 4 @

FA-91/FH-8 T 96 B/R7
1. 398 =y, 9o 3R W Sam mite §

2. 7% @=5 Nafeh fatwin | @
EH BT

3. I% #9-9ud & § AR F @|d H
Qa1 21 ! R TG |

= oy M g w1 wEm W 3w g
(@) Faa 1

(b) FaS 2

(c) Faa 1 3R 2

(d 1,23R3

8. ureny o fagq wfEsm el fa #7

(a) ToEm
(b) IW W
(c) WA TRY
(d) TR
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9. WRA TN Wikead & faweg danfem fr=fafad

#=1 3PEFT (military operations) &1 W&l
FITFHAFER FaEdq HI :

1. AR Feeq faeh

2. aﬁﬁmﬂ%ﬂ

3. ToEH Hugd

4. TR TS IR

2 e T g2 w1 @ W IW AT
(@ 1-2-3-4

(b) 2-1-3-4

(c) 4-1-2-3

(d 4-2-1-3

10. T & # faifaa s ¥ S it i

TS % way # fafafea § @ F9-w/a9-9
FUF HE /87

1. Y8d R % HaeH # 9 ¥R T 9|

2. 9% Teeud # fEfEm awE gfem
3in fofiem dive gfem mita 8

R fy T F2 W @M W I gAY
(@) Faa 1

(b) Fa4 2

(c) 1 323N

(d Fd1dMmad2



6. Which among the following States is not

a part of the Purvodaya development
initiative of the Government of India?

(a) Bihar
(b) Chhattisgarh
(e) Jharkhand

(d) West Bengal

7. Which of the following statements with

regard to the ‘National Manufacturing
Mission’ is/are correct?

1. It covers small, medium and large
industries.

o it will support cleantech
manufacturing,.

3. plts b wnll facilitate promotion
of employment opportunities in
labour-intensive sectors.

Select the answer using the code given
below.

(@) 1 only
(b) 2 only
() 1 and 2 only

(d 1,2 and 3

8. The Ghatampur Thermal Power Project

is located at

(a) Bihar

(b) Uttar Pradesh
fc) Madhya Pradesh

(d) Gujarat
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9. Arrange the following military operations

undertaken by India against Pakistan
in correct chronological order :

1. Operation Cactus Lily

i

Operation Riddle
3. Operation Meghdoot

4. Operation Safed Sagar

Select the answer using the code given
below.

(@ 1-2-3-4
(b) 2-1-3-4
() 4-1-2-3

(d 4-2-1-3

10. Which of the following statements

is/are correct about recently elected
Chancellor of Germany Mr. Friedrich
Merz?

1. He lost in the first round of voting.

2. His coalition includes Christian
Democratic Union and Christian
Social Union.

Select the answer using the code given
below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



11. 9 & @&y IR I@ &9 F ey # (b) 3 7 fifimeq % wifcil2ea g

ffafiaa & @ #9-3 wd gafea 87 g 2999 A% JEaF § CAT #1 =qme
# ¢, S wEYAE 1817 H WHIRE @
T T EE T w off|
1. sEw@s@ @ 0 3R 1% A (c) CAT % TR, 36 TG FI AWK & @14
2. faenfan : 19 At ;ﬁﬁm%ﬁﬂﬂ%‘éﬁmﬁ(goog
1
3 S %ITFQHN (absolute advantage)
i few T 2 @ wEr W IW g (d) R H ®am qA TE 3IW YA
e (commodity) # favmsar wfda
R WY UH R HEd & e I
(b) a4 2 3R 3 FEEIRIED g (comparative
(c) Fad 1 3R 2 advantage) 2|
e ke 14. -1 F:1 -1 | gafea Hifm ik giw 5
Eii T :
12. i A B e o ¥ R ¥ T dey s b o
¥ ar § Freaffas 3 @ F9-w1/89-2 9 i1 -1
A /e (F@=w) (g&T)
1. pfa: der #f Bl afeedi o @ A. S o HW 1. IR I
Hafia gt B B. Uid §qUEA 2. T RS @I 0%
2. oia: wredm win Rl vl w9 R g, et Oe
yfeeadfi wd @ dafea A 2 C. Imed & 3. Fclfaeq =izw U8 @ivre
C i
&
e e D. seadle 4. wadve sile ERRE
(@) Faa 1 Tl 3 e QATferfed
(b) HFA 2 gl
() 1 323 Fe
[ Fd 13T 2 e Al B
14 ‘3 L& w0
; ' & =Bs € %D
13. gerHs gav e[ (CAT) & =R R & 5 | A¥EY g Rty
2 W 2 gl ¥ 9 =R § o 29 F InEn T T
F I wa B W fagid F wey #A o [made EialWey
Freferfaa § @ FF-w w7 g 786 27 i S e
(a) 2fae f=FE CAT #1 s@s o) I T4 a3 g
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11. Which among the following regarding the

nature of goods and income elasticity
are correctly matched?

(b) The CAT is explained in the book
titled On the Principles of Political
Economy and Taxation that was

first published in 1817.

Nature of Goods Income Elasticity
1. Necessity : BetweenOand 1 (c) According to the CAT, the nation
2. ‘Luxury R N which doesl not have absolute
advantage in any goods cannot
3. Inferior :  More than 0 benefit from trade.
Select the answer using the code given (d) The two nations that engage in
below. trade can gain from specializing in

the commodity in which they have

(s Sl Aionky a comparative advantage.

(b) 2 and 3 only
fc) 1 and 2 only
({d) 1, 2 and 3

14. Match List-I with List-II and select
the answer using the code given below

; ! the Lists :
12. Which of the following statements about
the relationship between price elastici ] :
of derﬁa:lgs aﬁd type o];') ﬁ:n: ais/f:rtz et e
(Author) (Book)

correct?

1. Perfectly elastic demand is A. John M. Keynes 1. Poor Economics

ERROCIAtGRWIR &/ Conspobitive firm). B. Paul Samuelson 2. The General Theory

2. Perfectly inelastic demand is of  Employment,
associated with a monopolistically Interest and Money
CHmpetithve, fg. C. Amartya Sen 3. Collective  Choice

Select the answer using the code given and Social Welfare

eiW D. Abhijit V. Banerjee 4. Foundations of

fa) 1 only and Esther Duflo Economic Analysis

(b) 2 only

Code :
() Both 1 and 2
(d) Neither 1 nor 2 (@ A B C D
3 1 3 4 2
13. The comparative advantage theory (CAT)

is a trade theory that describes the (b) A B C D

basis of two nations engaging in trade. 2 4 3 1

Which one among the following

statements regarding the theory is not 0 A B C D

correct? 2 3 4 1

(a) David Ricardo was the author of (d A B & D
the CAT. 1 4 3 2
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15. a9 2025 ¥ F=fafes § 8 fros ammue 3§

i 6 7 doF w1 fawa ‘gfemm g &
fw @M (Collaboration for the
Intelligent Age)’ @17

(a) fag =% W= (World Economic
Forum)

(b) G7
() G20

(d) 98 =aMR WA (World Trade
Organization)

16. A wewpr whm & R °§ F=fafaa Fa w

fomm Hifsg

1. 3| @M w RW T el e

™ (NCDC) % Fr&a % 3jaiq wfgen
il gifadl = =gau diea s uhd
nfafafer sy F0 & wrEa =@ )

2. T wema i #18 =Fan o1 sftwan
7 R

I9YT | | FH-91/FH-8 9 w8 B/87
(@ Fa4 1

(b) Fad 2

(c) 1 323

(d Fd@1TIH2

17. %1 992, 2025-26 § =7 & fr=fafag §

4 e w2 #1 I=aw 3TEA WTW gen?
(a) 513 TR A

(b) T

fc) =TS YT

(d) &

FKKB-O-GAIT/39A

18. WA % ¥a1 Tafa % waw & frafafas 4 @

FH-71/FR-8 Fa9 T T 2/E7

1. afie da fafa & wwa % e § A
¥ wftw 3fg g R, 2005 F W
1-9 wferera o, s 2023 & FgH T
4-3 yftrera W wg T R

2. gEr’ ¥R ofEeR’ ¥Ed W oaE @
wfaffee wedt & st afis fafa § wwa
F uEFa AlE e ®, S 2023
FA9: 10-2 wfawra 3 8-5 wfowra @1 2

9 faw g e 1 wE IR g
(@ Faa 1

(b) a2

(c) 1 3R 23H

(d Fd1mad2

19. FHF T2, 2025-26 # F=fifga 4 @ 4

fawm & A § 4w & w9 F fufga =

T T 27

(@) =9

(b) F

(c) faw

(d) Tt



15. ‘Collaboration for the Intelligent Age’ was

the theme of a meeting convened in
2025 under the aegis of

(a) the World Economic Forum
(b) the G7
(c) the G20

(d) the World Trade Organization

16. Consider the following statements about

Nandini Sahakar Scheme :

1. This scheme is aimed at
assisting women cooperatives to
take up business model based
activities under the purview of the
National Cooperative Development
Corporation (NCDC).

2. There is no minimum or maximum
limit on financial assistance.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

17. Which one among the following items

of expenditure received the highest
allocations in the Union Budget,
2025-26?

(a) Centrally sponsored schemes
(b) Pensions
(c) Interest payments

(d) Defence

FKKB-O-GAIT/39A

Which among the following statements
regarding India’s services export is/are
not correct?

1. India’s share in global services
export has more than doubled,
reaching around 43 percent in
2023 from 1‘9 percent in 2005.

2. ‘Travel’ and ‘Transport’ services
represent areas where India holds
a relatively larger share in
global export, at 10-2 percent and
8'5 percent respectively in 2023.

Select the answer using the code given
below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

19. Which one among the following is not

identified as one of the ‘Engines of
Development’ in the Union Budget,
2025-26?

(a) Textiles
(b) Agriculture

(c) Investment

(d) Export

[ P.T.O.



20. Fefafad & @ #R-6 9 wrdw Ff &m0 & 23. F39 w9 & f=fafaa § § fF adl ¥ fo

MNYfF FaEET w1 GFm F0 ov q@ | Fdaeyr ' FEA di@ar (carbon

GO IR 9% AL J@e F FPAH FE W intensity) FH FA ¥ UPH T i<

Hfza 37 (Sovereign Green Bonds) Sl #& #i
gryun ) g7

(@) SaFEE fFa™ S9et 9E1 (PMKSY)
(b) T Ff T A (RKVY)

(c) waHER fRam wAEE A5 (PMKMY) (b) 2021-22
(d) STa FY M Fe (PKVY)

(@) 2022-23

(c) 2023-24
21. Fefafes ¥ @ F9-w ol dwum wra 3 (d) 2019-20
Yt & forg Wit w4 waus gesis (PMI)
yfea Fan 27
24. 2025-26 % 992 WEeHl ¥ WRd % GDP &
(SR yowd ¥ ®9 # ogufE TN T
Frafafaa 3 @ #w-w 27
(b) RBI
(a) 4-8 gfaerd
(c) HDFC
(b) 44 Wfawa
(d) IDBI
(c) 50 wfawra
22. Ffafad d @ #9- Fy= w6 78 27 @ 563
(@) forim femen 3ir fowm wfwg (FSDC)
I W9 2010 # i 7|
25. YRd WHR TN dgfgar (Code on
(b) T iR e (NLP) 2022 & Wages)ﬁ%ﬂﬂﬂ%%ﬂlﬂm? 3
RS 6T TS|
(c) T saEET fwm fify (RIDF) 6 b
W 1995-96 & ERE  AER
(NABARD) # i 7| Sl
(d) G20 %1 T\ 2001 # fqm #hEl e (c) 2021
FEE F% T % U9 ¥ w9 § fE
e (d) 2022

FKKB-0O-GAIT/39A 10



20. Which one

22. Which one

among the following
schemes focuses on developing modern
infrastructure and optimizing supply
chain from farm to retail in Indian
agriculture sector?

(a) Pradhan Mantri Kisan Sampada
Yojana (PMKSY)

(b) Rashtriya Krishi Vikas Yojana
(RKVY)

(c) Pradhan Mantri Kisan Maandhan
Yojana (PMKMY)

(d) Paramparagat Krishi Vikas Yojana
(PKVY)

21. Which one among the following financial

institutions reports the monthly
Purchasing Managers’ Index (PMI) for
services in India?

(a) HSBC
(b) RBI

() HDFC
(d) IDBI

among the
statements is not correct?

following

(a) The Financial Stability and
Development Council (FSDC) was
set up in 2010.

(b) The National Logistics Policy (NLP)
was launched in 2022.

(c) The Rural Infrastructure Develop-
ment Fund (RIDF) was instituted in
NABARD during 1995-96.

(d) The G20 was formed in 2001 as
a forum of Finance Ministers and
Central Bank Governors.

FKKB-O-GAIT/39A
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23. The Union Budget for which of the

following years announced the issue of
Sovereign Green Bonds to reduce the
carbon intensity of the economy?

(@ 2022-23

(b) 2021-22

() 2023-24

(d) 2019-20

24. Which one among the following is the

estimated fiscal deficit as a percentage
of GDP of India in the Budget Estimates
of 2025-267?

(a) 4-8 percent

(b) 4-4 percent

(c) 50 percent

(d) 56 percent

25. The Code on Wages was notified by the

Government of India in the year

(@) 2019

(b) 2020

(c) 2021

(d) 2022

[ P.T.O.



26. G-I i gE-11 | gafera it ok giaai &

= fiu T e 1 y@r W IR A
-1 (-1
(fafew wme (&7 Iusiy)
w1 arfufam)
A frgifem 1. ToR-SWa & fAym-ufg
T, 1784 =1 forear
B. 9t U®, 2. U9 3R I=TR A &
1813 e § W % faeg
¥ €21 Y
C. It Uae, 3. YRA ¥ qWal #1 & A
1833 % fore sea g fsa 9
D. It ¥, 4. WREE AUR W I 3w
1853 FUA F THIHR H qEIH
He :
@l K CH, flD
} Ma_. 0 53
B & a8 <D
-0 . =3
&' A B D
it e o M
i A BapsG 50
3 2 v, 1

27. TEAe A% Ifewm Ve, 1919 F wEy H
Fafefgs wuat = famar Fifvw .

1. @1 vwed ¥ fawEt = @) afmt §
faanfom frn—F=ig =it wi=dig |
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2. F=g fawal = ‘wmfi@ (reserved)’
3R ‘¥af@  (transferred)’ fomdi #
fasfsra o )

3. Wida GRl F 9 el 992 R iR
R IE F e wem A 1)

I § ¥ -8 FF w9 27
(@) *aa 1 3R 2
(b) Fad 2 3R 3
(c) Faa 1 3R 3
(d 1,23R3
28. ffafiga & & 38 v fFen $i wewm Fif
W 42a1 T AfufEm, 1976 F e ¥

9Rd % Gfeum % ogede 74(1) ¥ Ty My
gfaddl = goiar 21

(@) Ga & FEfcR Wiwal WRd % Tgufd
# fafgm €vfi)

(b) whafeg & fafet & sr 4 ggofa =
HAHHH 3T TYHHA T Fded Bl

(c) TEafd A9 Fl F TEM GUETE H
ezl arelt g 6 TaE % FgER
|

(d) Tl H TEE F HEA! F IEA FA Al
FAEEH FA FH ATHR 2



26. Match List-I with List-II and select the
answer using the code given below
the Lists :

List-I List-I
(Act of the British (Key Provision)
Parliament)

A. The Pitt’s India 1.
Act, 1784

Enlargement of the
Governor-General’s
Legislative Council

B. The Charter Act, 2
1813

Discrimination
against Indians
removed in matters
of employment and
higher service

C. The Charter Act, 3.
1833

Board set up by the
Crown to control
affairs of India

D. The Charter Act, 4, Termination of

1853 monopoly of East
India Company over
Indian trade
Code
(a) A B c D
1 B 2 3
(b) A B C D
1 2 4 3
fc) A B € D
3 4 2 1
(d A B (5 D
3 2 4 1
27. Consider the following statements
regarding the Government of India
Act, 1919 :
1. It divided the subjects of

administration in two categories—
central and provincial.

FKKB-O-GAIT/39A
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2. The central subjects were divided
into ‘reserved’ and ‘transferred’
subjects.

3. Provincial Governments were
granted the power to make their
own budgets and levy taxes.

Which of the statements given above
are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d 1,2 and 3

28. From amongst the following, identify
the correct option that captures the
changes made in Article 74(1) of the
Constitution of India through the
42nd Amendment Act, 1976.

(a) Executive powers of the Union shall

be vested with the President of
India.

(bp) The Prime Minister has the duty

to brief the President about
decisions of the Council of
Ministers.

(c) The President shall exercise

his/her functions on the advice of
the Council of Ministers, headed
by the Prime Minister.

(d) The President shall have the right

to summon or prorogue the Houses
of the Parliament.

[ P.T.O.



29. 9RA % FEs 3R mecrETTlies ) el i e :
Faet & R § Fafafes Fa w faEw

Hiferg - 6. -Au  B¥ 0D
1. 9% wra @ gRm Bf ¥ ey m e T ARV
=4} 6 SEmdsn wta@ ¢ 3R ful fEn
Ezo i B A B 8D
. gl s A
2. 9% wra 6 dfva fify § w7 F fofa i
it = Frifia e R
ol . Ao B oD
3. 9% €9 91 US4 F ToEl ¥ 99N §9 H 3o, B St U
famaifya asft et % =g #it Sramdan
el & 3R for SR e R
WA B DB
I A A FA-A FA T EY ) e TR SR 4
(@) Fad 1 3R 2
(b) Faa 2 3R 3
31. Praffas &fa wredl #), 39 w9 & 9§
(c) Faw 133 ¥ NUR W G FregHa § Fafem Hifvw
d 1,233 T A
30. Tl B g1l A AR At i e ¥ 2. <R e @i e S
Hr fg e g2 #1 W w I g 3. uRm-yeia s weEm
-1 T _ -
(a1 T) (k) 4. cfEm-gd ofims ugl = e
A. SeEaE Yea wifa 1. duEd o F R Hr i Ty g2 F W@ W IW g
wifaufrs el
B. s dparaffa 2. foen fawm sy (@) 3-2-1-4
¥ g F G
C. Sfto dio Fo T 3. foren afteg 3R Hew (b) 4-2-3-1
afufa TEEd H G
D. Uglo UHo fqudht 4. foen ofteg, q=m@ (c) 3-1-2-4
afify ffy ok am
e b o (d 4-3-2-1
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29. Consider the

following statements

about the powers and duties of the

Comptroller and Auditor General of

India :

1. He audits and reports on all
expenditures from the Consolidated
Fund of India.

2. He controls the issue and receipt
of money from the Consolidated

Fund of India.

3. He

audits
the expenditure

and reports on
of all bodies

substantially financed from the
Union or State revenues.

Which of the statements given above

are correct?

fa) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only

(d 1,2 and 3

30. Match List-I with List-II and select the
answer using the code given below

the Lists :

List-1
(Name of the
Committee)

A. Balwantrai Mehta -

Committee

B. Ashok Mehta
Committee

€. G: V. K. Rao
Committee

D. L. M. Singhvi
Committee

FKKB-O-GAIT/39A

List-IT
(Key Recommendation)

. Constitutional status

for Panchayati Raj

. Creation of post of

District Development
Commissioner

. Creation of Zilla

Parishad and
Mandal Panchayat

. Creation of Zilla
Parishad, Panchayat
Samiti and Gram
Panchayat

15

Code :

alsa, B ErEEus

GiFA. B " D

IS
N
w
-

l)i-a ¥ & e

ol

A =oBY :C ' D

31. Based on the year of their

establishment, arrange the following

regional organizations in correct

chronological order :

15 "i¥he Shanghai Cooperation
Organization

2. The South Asian Association for
Regional Cooperation

3. The Asia-Pacific Economic
Cooperation
4., The Association of Southeast

Asian Nations

Select the answer using the code given
below.

(a) 3-2-1-4

(b) 4-2-3-1

(€ 3-1-2-4

(d) 4-3-2-1

[ P.T.O.



82. RIS ANW FEA AU WEEH uH vl

-9d TeEW R W wER Ffe wiewm
fese e el f sl = 2
Frfeifad & & #9 @ F6 #Rd # a@te
Hhdl 2/FHd 87

1. 1§ &I

2. N we

3. I AnfE

4 o e F2 1 W@ wW W g
(@ 1,233

(b) Fad 1 3R 2

(c) Faa 2 3R 3

(d) Fa9 1

33. T ¥ = ‘Tafew yon d=a’ ¥ deas 37

(@) S g IR G
(b) T Sy s

(c) <A

(d) T TG HEr

34. Fafafaa § & F19-1 wum o T8 27

(@) YRd * IHAGH AEEE UF APeE
e B

(b) WA § I= AT AerE e £

(c) W@ & ey ey e ey
|

(d) ¥ra # asft = sfere =mey T8
£

FKKB-O-GAIT/39A
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35. AFE weAel % An A Frafafas HuE w

'ﬁﬂ'ﬁﬁﬁ{q:

1. Ul @El 3§ [ g0 Fad W AHA0
| Hafe o)

2. Wifgma @9 & fmen 5 oy frara
Teated 395 Tafy 9

3. =R Il ®9 % veal Faifaa wyofy
of

S & & Fre o T 37
(@ A
(b) 1
(c) 2

d 3

36. f=faflas FuE w fRem fifvw .

1. WTO # ¥WUN GATT % Iaiadi
(successor) & ®9 § ) ¢ o

2. IAEA %W fam sw § wwmy gawnsd
(nuclear facilities) =T a0 et 1

3. THE TAVEA & R-EEH Ged
(NGO) 21

I # A foraw o g §7
(@) A
(b) 1
(e 2

d) 3



32. The

United Nations Carbon Offset
Platform is an e-commerce platform to
compensate greenhouse gas emissions
by purchasing carbon credits. Who
among the following can buy these
carbon credits?

1. A company
2. An organization

3. A citizen

Select the answer using the code given
below.

(@) 1,2 and 3
(b) 1 and 2 only
fc) 2 and 3 only
({d) 1 only

33. Who among the following was the

founder of ‘Sikkim Praja Mandal’ ?
(a) Kazi Lhendup Dorji Khangsarpa
(b) Angami Zapu Phizo

(c) Laldenga

(d) Nar Bahadur Bhandari

34. Which one of the following statements

is not correct?

(a) The Supreme Court of India is
a Court of Record.

(b) High Courts in India are Courts
of Record.

(c) Subordinate Courts in India are
Courts of Record.

(d) All Courts in India are not Courts
of Record.

FKKB-O-GAIT/39A
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35. Consider the following statements about

international events :

1. The First Gulf War was related to
the Iraq invasion of Kuwait.

2. Mikhail Gorbachev was the
President of the Soviet Union at
the time of its disintegration.

3. Boris Yeltsin was the first elected
President of Russia.

How many of the statements given
above are correct?

(@) Nil
(b) 1
€ 2

(@ 3

36. Consider the following statements :

1. WTO was set up as the successor
to GATT.

2. IAEA teams inspect nuclear

facilities all over the world.

3. Amnesty International is an NGO.

How many of the statements given
above are correct?

(@) Nil
) 1
{c) 2

(@d 3

[ P.T.O.



37. M KA % 9R § Freafafea & 4 #9-3 (c) & TEIEHT * gEaw IwEm & fore fufered
Fo TE 27 FAF F RS FI GRS )

1. 396 W & Aeas GO Y TG

S (@) Te faeft gt % @y wn weEm & foau

Ier B
2. o0 ‘gufted’ 3R ‘swem’ S FeEnd
wmifye of|
3 mm 1951-}'13;1;]-9%31%;-@51]73 39.ﬂ%m%mﬁﬂq-ﬂ1%§wﬂm@q
# ga) T AT ST R
2 few T 2 F W@ W IW g (@ T T
(@) Faa 1 3R 2 (b) T HER
(b) a2 3R 3 )N
(c) Faa 133 @ e
(d 1,233
40. W R FHeEt § ¥ fARrargey gEs
qEgE B 27
| (a) Toeaga
38. & fawm (DoD) ¥ wM # fafofaa # @
FH-T1 FYA TE TE 87
(b) W
(a) 39 W@ & whaa A R (c) aeHifs
(b) T Gay @ Afa 3R e A R (@ aifrf
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37. Which of the following statements about (c) It facilitates the restructuring of
the Bhoodan Movement are correct? military commands for optimal
utilization of resources.

1. It was aimed at attaining a non-

ViEERL SOCST; (d) 1t is responsible for defence

cooperation with foreign countries.
2. It included schemes such as

‘Sampattidan’ and ‘Shramdan’.

3. It began in a village in Andhra 39. Which Hindustani classical Raag is sung
Pradesh in 1951. as an invitation to rain?

Select the answer using the code given (o) " RuagXaaman

below.

(b) Raag Bahar
fa) 1 and 2 only

(c) Raag Malhar
(b) 2 and 3 only

(d) Raag Bhairavi
(c) 1 and 3 only

(d 1,2 and 3
40. Who among the following classical

poets is the author of the book
Kiratarjuniyam ?
38. Which one among the following
statements about the Department of

Defence (DoD) is not correct? (@) Thiruvalluvar

fa) 1t is headed by the Defence (b) Bharavi
Secretary.
(c) Valmiki
(b) It deals with defence policy and
planning. (d) Panini

FKKB-O-GAIT/39A 19 [P.T.0,



41. frefafas § & F9-w1 v T o9 wife

¥l &R (early Harappan levels) § U
TS R WA F W F e s w9 g,
el wH-g@® F W W -
(furrows) % 2 98 &, I & @9 IR T
3 AT -3TE HHe! ) IR 3 @ &7

(@) HeEr
(b) TR

(c) FUmE
(d) A=

42. TR ¥ TS FOREE A TEAHA W

HTYHATAE TWF 09 it w1 fopa sman § 67
(a) T

(b) wA%
(c) afba

(d) wFa

43. T4 4 e 76 3 Fles & af 49 A e 9l

# wi (die Rw) & swm % an ° pw
foFm 2 S wRa A 39 Iuw F frmm AN W
Ha® O e 27

(a) S T
(b) TG TR
(c) ET Ffpfa
(d) T F-

FKKB-O-GAIT/39A
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44. Fefafan 4 @ ‘am@f argEa f g=

forryad +n 87

1. W

2. dE@H 3R e
3. foea o <m
4, 5 € @ T

i o T F 1w I g
(@) Faa 1 3R 2

(b) 23R 3

(c) 1,234

(d 1,334

45. YA fqw wma & wed A ‘RfeRe,

Tergfer’ o ‘Sewd’ v fhed et
&7

(@) <SR
(b) R
(c) 3y
(d) T19R F F5

4. faffaa 1 A e e e A & W &

YEed ¥ urEd U (A AfE) F e um
gL E?

(@) SAEE
(b) TEFTE
(c) HramEm
(d) hua



41. Which one of the following ancient towns

is known for the evidence of a ploughed
field from its early Harappan levels,
with two sets of furrows at right angles
to each other, suggesting two different
crops grown together?

(a) Dholavira

(b) Rakhigarhi

(c) Kunal

(d) Kalibangan

42. Krishnadevaraya, a king of Vijayanagara,

composed a work on statecraft known
as Amuktamalyada in

(a) Telugu
(b) Kannada
fc) Tamil

(d) Sanskrit

43. Who among the following travellers

reported the use of seed drill on the
Karnataka coast which is considered
to be the earliest reference of the
presence of the device in India?

(a) Duarte Barbosa

(b) Abdur Razzaq

(c) Afanasy Nikitin

(d) Niccolo Conti

FKKB-0O-GAIT/39A
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45. With

44, Which of the following are the main

features of ‘Saracenic’ architecture?
Arch

Vault and dome

3. Lintel and beam

0

4. Application of lime cement

Select the answer using the code given
below.

(a) 1 and 2 only
(b) 2 and 3
fc) 1, 2 and 4

(d 1,3 and 4

reference to ancient South
India, the terms  “Vichitrachitta’,
‘Chitrakarapuli’ and ‘Chaityakari’ refer
to

(a) markets

(b) temples

(c) titles

(d) centres of colour making

46. Which one of the following Harappan

sites has yielded evidence of a wash
basin in the toilet of a house?

(a) Banawali
(b) Rakhigarhi
(c¢) Dholavira

(d) Lothal

[ P.T.O.



47. 1857 #l Hifd ¥ AW foee ¥ R 35 #, 49. frfaRea gmi w fem fifsw

T | e e 9t 1 e w1 qmE w1
e wfefers wia AT
1. Forefdifmr : Hug anf
(@) T ARE 2. FH . e mya
) el 3. gd-F : ﬁﬁﬁ?ﬂﬂg
4. Fufera® 99 : HHed
(c) Srem fowed e § A Fra gm wd ghfera §7
(d) = T (@ 1
(b) 2
48. 3P F e F wed § Fafafaa FuEl w (c) 3
ﬁiﬂﬁﬁﬂ{:
(d) 4
1. Fdadd = 3 39 w0 wiieeedt
T4 % ¥4 #§ wfea o 3k 3 wpa
3R AT Wi & WEs 4 50. frafafiaa 3w w fEwr fifsw
2. FdEd S A gh R F o d e TE
T Iaa F geg wfe F Fmio fmn i bt T
3. W@ 1 3 W@ AW (external 2. oI . TR % ST
invasion) I I9TE &1 & U1 AR T - e :
%1 gyfe & T w@n| iy & : e
: 4, dfaied :  HWR F Iq TG
Igw o A fra wom wd €7 b
o I & 4 fhaa gm wd gafea &7
a,
(@ 1
(b) 2
(b) 2
S © 3
(d) % & (@ 4
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47. Who among the following British 49. Consider the following pairs :
Commanders suffered defeat in the

famous Battle of Chinhat during the Literary Work Author
1857 Revolt? 1. Rigarthadipika : Madhava Yogi
{a) Henry Lawrence 2. Kataka : Venkata Madhava
3. Damayanti-Katha : Trivikrama Bhatta
in H
W, CapRe b 4. Yashastilaka Champu : Somadeva

(¢) Francois Sisten : ;
How many pairs given above are

(d) Charles Ball correctly matched?

(@ 1
: ; . (b) 2
48. With reference to the history of Orissa,
consider the following statements : (c) 3
1. Anantavarman Chodaganga conso- (d 4
lidated Orissa into a powerful
kingdom and was patron of
Sanskrit and Telugu literature. 50. Consider the following pairs :
2. Anantavarman Chodaganga built King Dynasty

the great temple of the Sun God

1. Lakshmikarna : Pala
at Konark in Puri district. >

2. Bhima I : Chalukyas of
3. Narasimha I effectively checked the Gujarat
external invasion and maintained 3. Jayapala : Shahiya dynasty
PrOSpENEY &1 O Tips- 4. Lalitaditya . Utpala dynasty of
Muktapida Kashmir
How many statements given above are
correct? How many pairs given above are
correctly matched?
(@ 1
(@ 1
(b) 2
(b) 2
fc) 3 (c) 3
(d) None d 4
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51. F=fafas HuH w famr Hifs .

1. e sfen fede wodw =i & veeh
3% 1926 § o dlo TS F AW
A F g oft)

2. ¥im iEw feve e YERmE 6
WE 1928 H AR ¥ g iR
glo e Eew WF R Faifta
A T |

3. e sfewn fedne womdy =it 6 T
glo dlo THo YW ERI 1936 § T %
T e | I T8 o)

I § @ FH-A F9 9 7
(@) Fad 1 3R 2

(b) a2 3R 3

() 1,233

(d) = e

52. IW WRAE TA1 % YadE &1 § YT aregeved

% fam ¥ e § Fefafes 0 w f=w

Hfrg ;

1. A F ‘T’ ok e’ # E-wer
1 afean deft & s smar an)

2. FWR ¥ qReH A = Somm ¥ nw
4 T R

3. SR AR Teare &9 # fiE R

4. & S AR # THR W90 H 99E
fearg 2an 21

39 A | fhaa o wd §7
(@ 1

(b) 2
© 3
[@d 4

FKKB-O-GAIT/39A
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53. 3@ % T@ AFHI W IFEfUm  yomed

(indentured system) I %= oW fF
™7

(@ 1926
(b) 1934
(c) 1938

(d 1946

54. YG-U8 =R & Hed ¥, 30 ¥ ey wra

T I G F Ta® 1 Iood T 27

1. ®a
=

2.

3. <eef
4, fea wErEm

= R T Fe F wEm =W IR gh)
(@ 132

(b) 233

(c) 23R4

(d) 13R3

55. Yd & 3fomm F ded § ‘wevmlR wef,

‘wfed wgfa’ iR ‘gt wefa’ fefafaa &
A forad weiftm 87

(@) @TA-fagm
(b) wieg-Tafwemn
(c) TEEA-fagm
(d) @fd 3R F=



52. With

51. Consider the following statements :

1. The first meeting of the All India
Depressed Classes Conference was
held at Poona in 1926 under the
presidency of M. C. Rajah.

2. The All India Depressed Classes
Association was formed at
Nagpur in 1928 with Dr. Bhimrao
Ambedkar as its first elected
President.

3. The All India Depressed Classes
Congress was founded by Dr. B. S.
Munje at a conference in Bombay
in 1936.

Which of the statements given above
are correct?

fa) 1 and 2 only
(b) 2 and 3 only
(¢ 1,2 and 3
(d) None

reference to the ancient
architectural development in the hills
of North Indian States, consider the
following statements :

1. The temple ‘Garbhagriha’ and
‘Shikhara’ were made in a Rekha-
prasada or Latina style.

2. The Pandrethan Temple in Kashmir
is built on a plinth in the middle
of a tank.

3. The Jageshwar Temple is located
in Garhwal region.

4, The Lakshana Devi Mandir shows
the influence of the post-Gupta
tradition.

How many statements given above are
correct?

(@) 1
(b) 2
) 3
d 4

FKKB-O-GAIT/39A
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53. The indentured system in tea gardens

of Assam was abolished in

(@ 1926
(b) 1934
(c) 1938
(d) 1946

54. With reference to the Indo-Roman trade,

who among the following referred to the
drain of Roman gold into India?

1. Strabo
2. Pliny
3. Ptolemy

4. Dio Chrysostom

Select the answer using the code given
below.

(@) 1 and 2
(b) 2 and 3
() 2 and 4

(d 1 and 3

55. With reference to the history of India,

the ‘Katapayadi system’, the Parahita
system’ and the ‘Drigganita system’ are
associated with

(a) astronomy
(b) surgery
(c) chemistry

(d) music and dance

[ P.T.O.



56.%?ﬁ?ﬂﬂq,?ﬂﬂ5maturalnumbcrs)a,b 59.@‘1‘(%%3‘3@%@@1&@18%

#edRmar 2o+l 11 & b amgrl R TNt R = @ W@ w 3@ TR
merans. 49 fR@ 2 P A1 A ¥ ad sl R 4 3k
A ¥ B Sargdl 1 s 1:3 %1 3R palw a
S AP aFR Y, A AR BEH oA
(@) 30 2, et §, free 27
(b) 45 (a) a
(b) 2a
5150 (c) 3a
(d) 75 ) 4a

60. IR TR gH, T & wa% & s 1 m

57. IR n, 1 ¥ 3 PF (integer) 2, @ s ?, T8 R W@ R dw @ e Qg
n+n? +n} B =Ew qH w27 e = R F g F A aeh wE @
TF Hie WY SN W R 3@ YRY
@ 1 itk Gvifaa Brean w8 wwdi 27
(@ 2+1) m
= ) §Z-1m
©) 76 () (mV2-1) m
(d) (nv2+1) m
(d) 785

61. P 3R Q TF UMM W 300 km F gt W &
M (points) ¥ 31 91§ AR A 3R BTH

58. (3x1+4x2x1+5X3x2x1+-- A e R PH QA 3N I Y& F@ 81 B
+20% 18X 17 x - x2x 1) %1 9Tl (speed) A #i 91 # 12 km/h #4
e & B WM Q W W W, 9% WA A §d P

1 3R oYzt 81 98 Q ¥ 60 km [ FeF W
rd & wm W B R fierar 81 A 6 5@ =0

e 27
(b) 3 (a) 38 km/h
(b) 30 km/h
() 4
(c) 36 km/h
(d 5 (d) 35 km/h
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56. For any three natural numbers a, band c,

be+l 11

if ———_=___ then the wvalue of

abc+a+c 43
abe is

(@ 30
(b) 45
) 60

(d) 75

57. If n is an integer larger than 1, then

what is the least value of the integer

n+n? +n3?
(@ 1

®) 3

(©) 76

(d) 785

58. The unit digit of

(B3x1+4%x2x1+5%x3x2%x1+-
+20x18x17x---x2x1)

is
(@) 2
(b) 3

fc) 4

(d 5

FKKB-O-GAIT/39A
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59. A point P on the ground is on the same

line as the bases and the tips of a pair of
trees A and B such that P is on the left
of both these trees. The ratio of heights
of A and B is 1:3. If the distance
between P and A is a metre, then the
distance between A and B, in metre, is

(@) a
(b) 2a
(c) 3a
(d) 4a

60. Four cylindrical drums, each of radius

1 m, are placed such that each one
touches other two drums. A sewer pipe
is to be placed through the gap of these
drums. What could be the maximum
possible radius for this pipe?

(@ W2+1) m
(b) W2-1) m
() mV2-1) m
(d (mJ2+1) m

61. P and Q are two points on a highway,

300 km apart. Two bikers A and B start
at the same time from P towards Q.
The speed of B is 12 km/h less than
that of A. On reaching point Q, biker A
immediately returns towards P. He
meets B on the road at a place 60 km
away from Q. What is the speed of A?

(@ 38 km/h
(b) 30 km/h
(c) 36 km/h
(d) 35 km/h

[ P.T.O.



62. T US F gaE IF 8:00 AM W ¥ frm
sl 21 ug) B fe fit gd ofe W gd
% 65 e % AR UF WY It §1 5 q
8:00 PM aiidl &, f Fspeam fime % smgan

65. Frafefas # 4 frw ad =1 Szt ad 2025
#9H (identical) Brm?

Jrdfas a9 #9127 (@) 2028

(a) 8:05 PM

(b) 8:00 PM (b) 2029

c) 7:55 PM

(d) 8:02 PM (c) 2030
63. 18 cm, 24 cm 3R 30 cm YW AN TH (@ 2031

Ay & 39 ¥ il 2 3 ¥ e w

s % e @ sgur T e 87
(a) 1:m
66. 31 Wermtedl A 3R B fautia fmad @ w W3
e Qe W T @ E P A
() m:1 300 m ®| B #I 9@ (speed) A ¥1a1 &
Ah }1 B T Rew ur F@ § o w0
(d) Jn:2 T A g WM 9R w9 F foe e g w6

64. IR a/b=2, b/c=3, c/d=4, d/e=3,

- il atb+c
e/f=23M f/g=15 @A o v

I #9187

(aj 144
(b) 216
(c) 225

(d) 120

FKKB-O-GAIT/39A
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wH-faerd ®1 IR A 3R B & dardl =1 am
500 m &, @ 3 wargal # fopaa faw 27

(a) 220 m

(b) 250 m

(c) 200 m

(d) 300 m



62. A clock is set right at 8:00 AM in the 65. Which one of the following years will
morning. The minute hand and the hour have identical calendar with the
hand of the clock come together after year 20257
every 65 minutes. What is the actual
time when the clock shows 8:00 PM,

; (@) 2028
approximated to the nearest minutes?
(a) 8:05 PM
(b) 2029
(b) 8:00 PM
(¢} 7:55 PM (c) 2030
(d) 8:02 PM
(d) 2031

63. A triangle of sides 18 cm, 24 cm and
30 cm is inscribed in a circle. The ratio
of the area of the circle to that of the

triangle is approximately
66. Two trains A and Bare entering a railway

fa) 1:m platform from opposite direction. The
length of the platform is 300 m. The
(b) Jm:1 speed of B is two times the speed of A.
The time taken by B to cross the
e ‘nil platform is one-third of the time taken
by A to cross the platform. If the sum of
(d Jm:2 the lengths of A and B is 500 m, what

is the difference in their lengths?

64. If a/b=2, bjc=3, ¢/d=4, d/e=3,

e/f=2 and f/g=1-5 what is the () s2ey m
value of m
e-f+9g
(b) 250 m
(a) 144
(b) 216 () 200 m
fc) 225
(@) 120 (d) 300 m
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67. 3 HEH # AHA 168 2| IR IH HCF 69. IR a?* =p3W =52 IFR p-qa2c, @
14 &, T wEmel & @ fra g e §7 frefefaa & & - wd 27
]
(@) (a) 2+§=§
X Y. %
(b) 2
P-4
) ~3 ®) ?“5?'53
(@ O
A
fe) ;+§_3y
68. TF F H AR 9 A, B, C 3N D ¥ 4, 2
fire 7% e 2, ok AR 1 e % R o (@ g_gzg
Bl S 2 3R ' iR o we Sod wd B
3l W& ¥ B, 3 e o% wiwa 2, ofv f 1
e F fou 52 &) w1 @ 3k @7 whE sod

wdl ?1 TR e 3R W= @R R whem o F

fou s 4 fime ain 1 Bme A1 3, sl D 70. T fFH-3F dem ¥ T@d WA (tenth

Ffmgmm s 1 e =
itk R 4 yan Fa § 3R @ ga gu
B PR IR fwa s R e W
sferepan fohafl ar i SiusR #1 T w6
9g Gl 87

(@ 3
(b) 2
fc) O

(d 1

FKKB-O-GAIT/39A
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place) %1 HH 3% ¥H (unit’s place) ¥
AH H A T R @d W™WE (hundredth
place) F1 WF TFI1 WA & WH # 75% 2|

o freft wead e €7

(@ O

(b) 1

e 2

@ 3



67. The sum of two numbers is 168. If their 69. If a2* =b3¥ =¢%% and b=a?c, then

HCF is 14, how many such pairs of which one of the following is true?

numbers are possible?

(@ 1 A e L
) 2
103 1
(e 3 (®) x 5z 3y
(d O
N | !
c) —+—=—
(© X oZp:3u
68. There are four bulbs A, B, C and D in
a room. A glows for 2 minutes, then
goes off for 1 minute and the process @ 2 5_3
continues in this manner. Similarly, B x z Y
glows for 3 minutes and then goes off
for 1 minute and the process continues.
For C, it is 4 minutes and 1 minute,
while for D, it is 5 minutes and 1 minute 70. The value at the tenth place of a three-

respectively for glowing and going off. digit number is twice the value at the

unit’s place. The value at the hundredth
place is 75% of the value at the unit’s
place. How many such numbers are

A man enters the room and comes out
of it as soon as he completes an hour.
What is the maximum number of times
that he may face complete darkness in

possible?
the room?
i (@ 0
) 2 (b) 1
c) O (c) 2
(@ 1 (@ 3
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71. F=fafea § 3 F9-w1/99-2 5= wd 3/%7

1. 180° WM W &HY 0° J|WM® A F
12 52 8, ¥ € $E TR IR @
afim i ik 3 F i &k 3w

2. WiER H g A AR @A aqmen AhE
sRigE fofd Yar 9 w3 F a1 3w fe
%! gUaR & ¥ 8 fiRmm)

H1 fow g e @ wEe =W s g

(@) Faa 1

(b) Fa@ 2

c) 1 3R 23t

(d @ 1AMAE2

72. TEY 3UHY F Hed ¥ r=ferfaa et w REw

Hfr

1. =gl § @&au o e, sedem oi
Toreeftao % o Fer £

2. *fcegm, diftam, Fffiem v Sfem
I8 Tavt & Yem A vaft At B

3. AU 3IUHY (ENEME IUEY F TH
fafire Serew &1

ISP | ¥ FH-H/FH-2 e T /A
(a) ¥ 1

(b) Fad 1 3R 2

() *ad 2 3R 3

(d 1,23R3
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73. Tr=fofaa # @ F9-8 v#R F geq Gared =

e w=TeE % w9 § wfiea fan s 27
1. fa@du (Creep)

2. =g F 9@ (Mudflow)

3. ™YW (Solifluction)

4. €Y (Slump)

T g e g2 w1 wEm = I ghn)
(@ 132

(b) 133

c) 23R4

(d) 33R4

74. Wi SEHREET (stratovolcanoes) ¥ Hay

7 fafafes & ¥ Fe-w/A0-2 w9 wd

#/&

1. ¥Ra SegeE @, @ gaH 9 UE
? S ¥fous aman oiv sremgE wa f
Tt @ 5 2

2. 3 fovpes A 7@ w2 gw § w=ifF
Taia segRedl ¥ fem a9 Soas
A W I IE ¥ WY SAF qE H

5 At R
e o T e w1 wEm W I g
(@) ¥4 1
(b) A 2
(c) 1 3R 2 3F
(d) a1 ad2

75. fi=fafan & @ 98 ge faft =0 & Rl wwdh

9T SR HEUR S| § SerTfdeh sad) 87
(@) F9EEY (Abrasion)

(b) GfE¥T (Attrition)

(c) H&RU (Corrosion)

(d) FIEIY (Solifluction)



71. Which of the following statements is/are

correct?

1. The time at 180° longitude is
exactly 12 hours from the 0°
longitude, irrespective of whether
one travels westward or eastward
from the Prime Meridian.

2. A person moving eastward on
Tuesday will count the day as
Wednesday once the International
Date Line is crossed.

Select the answer using the code given
below.

(a) 1 only

(b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

72. Consider the following statements with

reference to salt weathering :

1. Salts in rocks expand due to
thermal action, hydration and
crystallization.

2. Salts like calcium, sodium,
magnesium and barium have
a tendency to expand.

3. Salt weathering is a typical example
of chemical weathering.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d 1,2 and 3
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73. Which of the following types of mass

movements are categorized as rapid
movements?

k. Creep

2. Mudflow
3. Solifluction
4. Slump

Select the answer using the code given
below.

fa) 1 and 2
(b) 1 and 3
() 2 and 4
(d) 3 and 4

74. Which of the following statements with

reference to
correct?

stratovolcanoes is/are

1. Stratovolcanoes are tall, steep
cones built of layers of felsic lava
and volcanic ash.

2. They can erupt explosively as felsic
lavas from stratovolcanoes hold
large amounts of gas under high
pressure.

Select the answer using the code given
below.

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

75. Which one of the following is the main

method by which potholes are created
in bedrocks by the flowing stream?

(a) Abrasion
(b) Attrition
(c) Corrosion

(d) Solifluction

[ P.T.O.



76. F=fafiad & & FR-H qemrty a=al (39)
T He@rR A o e §7

1. ¥ 3=

2. F

3. FUREH A
4, uRy defw 39

= g T 2 w1 wEm W I gRuy
(@ 132
(b) 1313
) 233
(d) 2 3R 4

77. T AR (neap tides) % e # f=fafaa
FuA 1 fomm Aifs

1. 9MH@:, a e e & o9 9a @ W
AU B g

2. T8 9 gl 3 S5 TH-gE & gEE
R B 2

3. W F Ty & uER 9w
(counteracting force) ¥ <EHT Wl
1Y T2 ST B

IEE A A BA-G1/FA-A FH G /Y

(@ Fad 1

(b) FadA 2

(c) 132

(d) 2 33
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78. WA # UPA Semrn (NW) i gafuq i) #

warl & Frefefiaa gmit w fomm Hifv
T T T Bl

1. NWw-1 mn

2. NW-10 e

3. NW-100 ardt

I § ¥ FH-/FE-8 7w wd gafem
B/27

(@) Fad 1

(b) Fad 1 3R 2

(c) Had 2 3R 3

@d 1,23R3

79. Frfafea & @ fFa v 3 o ofE@sm
‘TéR-u-TH WER W fie wfEEa @w
(Shaheed-e-Azam  Sardar  Bhagat
Singh Hariawal Lehar)’ WRY ) 27
(@) IW 4=
(b) WA e
(c) USE

(@) T

80. WX ¥ Wiz % wWed # fmfufaa # @
FH-T1/FA-T Hu T /27

1. TEh W A WA & S fee d@fém
el & forg sgEa B

2. WAl & AHR IR ITH e F 4=

oY F WX % fasten (Reiegym) % &9
7 srfireaes T sman &)

R fiw e e w1 wE@m = IW gh)
(@) Fad 1

(b) FE 2

(c) 1 3R 23

(d Fd1dmad2



76. Which of the following ocean trenches are 78. Consider the following pairs with

not located in the Pacific Ocean? reference to National Waterways (NW)
in India and the associated rivers :

1. Bonin Trench

NW No. River
2. Cayman Trench 1. NW-1 : Ganga
3. Kermadec Trench 2. NW-10 : Amba
4. South Sandwich Trench 3. NW-100 : Tapi

Which of the pairs given above is/are

Select the answer using the code given correctly matched?

below.
(a) 1 only
fa) 1 and 2 (b) 1 and 2 only
(d 1,2 and 3
(c) 2 and 3
79. Which one of the following has
(d) 2 and 4 launched the environmental project
‘Shaheed-e-Azam Sardar Bhagat Singh
Hariawal Lehar™?
77. Consider the following statements with (a) Uttar Pradesh
reference to neap tides : (b) Madhya Pradesh
1. Normally, there is a seven-day (c) Punjab
interval between two neap tides. (d) Delhi
2. At this time, the Sun and the Moon 80. Which of the following statements with
are at right angles to each other. reference to raster data format is/are
correct?
3. The Moon’s attraction is diminished 1. It has a simple data structure

which is compatible with remote
sensing imagery.

2. The relationship between cell size
and number of cells is expressed as
the resolution of the raster.

by the counteracting force of the
Sun’s gravitational pull.

Which of the statements given above

is/are correct?
Select the answer using the code given

fa) 1 only below.
(b) 2 only (a) 1 only
(b) 2 only
() =% (c) Both 1 and 2
(d 2 and 3 (d) Neither 1 nor 2
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81. Ffafea # ¥ Wifes gumn @3 (GIS) *

ueH FR-Y §?

4. @M (People)

4 fan 7T e w1 @M W W g
(@) F9d 1 3R 4

(b) Fad 2 3R 3

(¢ %91, 2 3R 3

@d 1,2, 334

82. WRaWen i § fefafes § @ $9-3

it 87
1. Hhmrad 831 % foe ge% dud
2. WY uSH = fawm

3. ¥YHE@ 99! (non-major ports) ¥ fU
o

4. UPRATE % WY THEH

= fog e g2 w1 W W W gRu
() Faa 1 3R 2

(b) Fa@ 3 3R 4

) ¥ 1,23R3

(d 1,2 33R4
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83. F=faflaa § @ Fm-w deom gad v wiftE
Toran T on?

(@) WA eNfeh g, R

(b) REE fagm Rian @ agEyE dwem,
kg

(c) W Yferam dem, eued
(d) ERAE Y69 M, EHEER
84. 3 Sfigd v ¥ wed o f=fafes & 3
PH-T1 FYA e TE 27
(@) a6 w91 99 2016 | T off)

(b) TEH1 Ie¥d AWAT & Sfie ) e
H gUr FE1 2

(c) FEH1 Ie¥A TS AT R F =16 T
FAFIH TeH HET B

(d) ¥ TH FHT WA A R
85. fefimm it et v fr=fafaa 4 @
9w R &7
(a) AT 7] 3R g
(b) SEE: FY I A
(c) a8 3R T
(d) FF: B AR R



81. Which of the following are components 83. Which one among the following institutes

of Geographic Information System was established first?
(GIS)?

(a) The Indian Institute of Technology,
1. Data Delhi
2. Hardware (b)) The Indian Institute of Science
3. Sufteare Education and Research, Pune
4. People (c) The Indian Petroleum Institute,

Dehradun

Select the answer using the code given
below. (d) The Indian Institute of

Management, Ahmedabad
(a) 1 and 4 only

(b) 2 and 3 only . f
84. Which one of the following statements

(¢ 1, 2 and 3 only with reference to Jal Jeevan Mission

@ is not correct?
) 1,2, 3 and 4

(a) 1t was established in the year 2016.

(b) It aims to improve quality of life
82. Which of the following are included in in rural areas.

Bharatmala Pariyojana?
(c) It is to provide functional tap

1. Road connectivity to border areas water connections to every rural

2. Development of coastal roads household.

3. Connectivity for non-major ports (d) Itis a centrally sponsored scheme.

4. Integration with Sagarmala

Select the answer using the code given 85. The cities of Hiroshima and Nagasaki
below. are situated on which of the following

islands?

(@) 1 and 2 only
(a) Kyushu and Shikoku respectively

(b) 3 and 4 only (b) Kyushu and Honshu respectively
() 1,2 and 3 only (c) Honshu and Kyushu respectively

(d 1, 2, 3 and 4 (d) Honshu and Shikoku respectively
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86. R (HMHEM) F Frafafaa fra fafie &=

| 7% o (feiea wreR) Jem &7
(@) FERIBR
(b) HIEE
(c) R
(@) T

87. Wi § gurd UR&Ge (facilitated transport)

F 91 # Frafefaa § @ FF-u1 591 w8 'Y
(@) aft Fifera afess gane fEs & TR
2l

goed dieed Gk dfEs w1 @
IR B
V@ i uiEed g e g F O
wiTan 21

gaE giEed & fog aws WA i
e I SAEvgHd Bl 2

()

fc)

(d)

88. WAl @l % 9 Na*t 3R ca?t =1 qfEes

ererrT 3eTERo 7
(@) TR
(b) Twar
(c) FeAE
(d) TERE

89. UHRfE TagH ¥ AR # Frafafaa # & FH-w

YA T 27

(@) ¥4 TSTRH] HI TR TARRRF TSEH R
HgHTerd-H-e el 1 Yo i B

(b) M 3 FFuR (WERz) i |iga F I
il f s I B T @
Ffeqtaciie (SEatEies) I 81

(c) ;a Egm TH-30FHE (FH-FagfHe) TEH

1

(d) TR TSTER A o I9gEE # WA
gz ¥ Afafe v Feas gz f ad
2
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90

91

92

93.

94.

95.

929l # YT WA AT fafie ¥R % Fasl 7 4,
fr=fefaa § @ ¥9-w s 9fed Fas 27

(@) H5a (Re=wrgan)

(b) FRIa (TFCR-HIZHI)

(c) TTE (STEE™)

(d) et (Fici-=HTgd1)
ueat 3 frefafaa 3 @ ¥9-w 8w T 0@
(roots) 3 R (shoots) #t gfg & ferw
Ieert &7

(@) verdia (Fici=HTgHT)

(b) e (TSrefia)

(c) e (i)

(d) ey fawsaras (vfuswa afew)
fafafgs & 4 FR-@ oot 99E w2 A
AT Y T i AT F 87

(a) FIFW wll

(b) F® uwh

(c) wE-uR

(d) FF

frafafaa & @ F9-w 91 (class) ™ #
Teafre=ro yelfa w27

(a) FHIEH

(b) "H

(c) 39F=R

(d) AU

HITeld & T JHR Hl

(@) TR

(b) WM

(c) Tafte

(d) =T e

el 3R 3= 3k WiFHfas Il (habitats)
# Im ¥ o sgEfia aedl | F=0 w@ @
44

(@) SHTEE

(b) HrEIEEE

(c) TTRGIFIE

(d) TAEER



86. The spindle fibre is attached to which
of the following specific regions of the
chromosomes?

(@)
(b)
(c) Telomere

(@)

87. Which one among the following
statements about facilitated transport
in plants is correct?

(@)

Kinetochore

Chromonema

Centriole

All passive transports are types of
facilitated transport.

(b) Facilitated transport is an example

of active transport.

() Water moves across plasma
membrane by active transport.

Facilitated  transport requires
assistance of carrier proteins.

(@)

88. Transport of Na* and Ca?* across the
plasma membrane is an example of

(@)
(b)
(c)
(d)

89. Which one of the following statements
regarding allosteric enzymes is correct?

antiport
symport
uniport

aquaporins

(a) Like other enzymes, allosteric
enzymes also obey Michaelis-
Menten kinetics.

(b) The velocity versus substrate

concentration graph is a hyperbolic
graph, like any other enzyme.

{c) They are always one-subunit
enzymes.
(d) Each subunit of allosteric enzyme

also contains a regulatory site in
addition to the active site.
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920.

91.

92.

93.

94.

95.

Out of different types of tissues found
in plants, which one of the following is
a complex tissue?

(a) Parenchyma
(b) Sclerenchyma
(c) Xylem

(d) Collenchyma

Which one of the following regions in
plants is responsible for the growth of
its roots and shoots?

(a) Collenchyma

(b) Endodermis

(c) Cortex

(d) Apical meristem

Which one of the following arteries

supplies blood to the human heart
muscle?

(a) Pulmonary artery

(b) Renal artery

(c) Coronary artery

(d) Hepatic artery

Which one of the following classes

demonstrates double circulation of
blood?

(a) Invertebrates
(b) Fishes

(¢) Amphibians
(d) Mammals

Cholesterol is a type of
(a) carbohydrate
(b) protein
(c) lipid
(d) nucleic acid
Plants adapted to grow in deserts and
other dry habitats are called
(a) xerophytes
(b) mesophytes
(c) hydrophytes
(d) halophytes

[P.T.O.



96. 5w & w1 # fF=fefad § @ FF-1 97 98

& 27 '

(@) Toom #: 373 K ® ™ 1 ®, I8 5
Fu H @ I ? AR CaSO, -H,y0
9 e B

(b) 9@ & WY frem W wRR e IE
Toroem % stga s )

(c) R ATE U w1 IwEm T g€ wfeE
= e 3 F forg foman s R)

(d) wfy foom § freaa s@ @ R, fhg
T Y A9 R 5 T8 8

97. FTeA 3R 39F dfien | gafta F=fafas 3 @

FH-8 FH GE £7

1. 1-%9rEA & §F -smey 8 §)

2. UHifes e w1 wois Hivw ¥ It
B 1

3. A Hifeaw uig % iy AR wwa
? 3R TS T I A R

4, TR H Hfeaw TEFEEE F U™
Ffufsrn 89 W gegeee ad 2

e 2 T g2 1 W = I g

(@ 13MW3

(b) Fad 2 3R 3

() 13M2

(d 2,334

o8. F=fafaa # 4 FF-w/aR-2 afreds R

Uohlald o SNFITHO F1 FHRO 9 Fohal 2/
T 27

1. T wifsd H,S0,

2. &HKE™ KMnO,

3. ¥diFd K,Cr,0,

4. 3AHd KMnO,

= fow T e w1 Wi = W g
(@ 1,233

() 1, 33N 4

(c) Faw 2 3R 3

(d) a4 4
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99. fi=fefaa # & #=-T1 %y wel e 27

(@ T & wydw # dfd i wdw f
Ffufsrn d eRgiem fa 3am Bt R

(b) Yafemm frdt YR W eEem o ¥
5 1 IR Ha B

(c) AT F AfadeE § 2@ B & Rew
FTe SRATFES, Ted a4l & a1 FHI
S WHTE 39 Bl B

(d) TgE TESFEA FeEl S F A
ERI8d

100. F=faflaa & @ F9-d Fwad st a8

27

(a) Ffcaam stfaamge # 5o § faemm
(b) TTeaf e #1 @R § 9He

(c) T ATELE H AYHA

(d) Wfead TEgiaaEe 1 e ¥ aIHI

101. -1 F g-11 & gAfera Ffvm ok gfe &

vows

= i Y 2 w1 @ W sw g
-1 -1
(i) (Tamafi= g3)

rggiferm 1. CONH,),

. S g 2. KNO,

i 3. CaNCN
TrefimEm e 4. NH,NO,

%

(@ A B. €D
R SR R

TR e S e o)

- o e el

YT WS - Yaea T
I Rk Thag.

@ AT By Te D
i e 2 34



96. Which one

97. Which of the

among the following

statements regarding gypsum is not

correct?

fa) On heating gypsum at 373 K, it
loses water molecules and becomes
CaSO, -H,0.

(bp) On mixing with water, plaster of
Paris changes to gypsum.

(c) Plaster of Paris is used for
supporting fractured bones.

(d) Although gypsum possesses water
of crystallization, it is not a liquid
at room temperature.

following statements

relating to carbon and its compounds

are correct?

1. 1-Propyne has three double bonds.

2. The boiling point of acetic acid is
higher than methane.

3. Ethanol reacts with sodium metal
and produces hydrogen gas.

4. Esters give effervescence on
reaction with sodium bicarbonate.

Select the answer using the code given |

below.

fa) 1 and 3

(b) 2 and 3 only
fc) 1 and 2

(d 2,3 and 4

98. Which of the following reagents can

cause oxidation of an alcohol?
1. Hot concentrated H,SO,
2. Alkaline KMnO,

3. Acidified K,Cr,0

4. Acidified KMnO,

Select the answer using the code given
below.

(@) 1, 2 and 3

(b) 1, 3 and 4

() 2 and 3 only

({d) 4 only

FKKB-O-GAIT/39A

99.

100.

101.

i L

Which one among the following
statements is not correct?

(a) The reaction of methane and
chlorine in sunlight produces
hydrogen gas.

(b) Palladium catalyzes the addition of
hydrogen gas on an alkene.

(c) Ethanol burns in oxygen to give
carbon dioxide, water and releases
heat and light.

(d) Unsaturated hydrocarbons burn
with a sooty flame.

Which one of the following is not an
exothermic reaction?

(a) Dissolution of calcium oxide in
water

(b) Decomposition of vegetable matter
into compost

(c) Decomposition of lead nitrate

(d) Dilution of sodium hydroxide with
water

Match List-I with List-II and select the

answer using the code given below

the Lists :
List-1 List-IT

(Compound) (Chemical Formula)

Nitrolim 1. CO(NH,),
Ammonium Nitrate 2. KNOj3
Urea 3. CaNCN
Potassium Nitrate 4. NH;NO,

Code :

(@) A B (84 D
1 4 3 2

(b) A B C D
3 4 1 2

{c) A B C D
3 2 1 B

d A B c D
1 2 3 4

RT.O,



102. f=faflaa & & F9-w1 BF (triad) AR

g e o T an?

(a) Ca, Sr, Ba

(b) Cl, Br, I

fc) N, P, As

(d) Be, Mg, Ca

103. Fr=fafaa st w faar it -

1. 3 4 faemm st e @ aed
3R WA § MR R % e e
IS = 6 €Y F S S B

2. T UERN IR IR R we
FETee srfufaea B

3. 3@ dwuH 3R IW I F Iala
A 3R FEA ERetidERe 6
srffsean R wvefia w9 ¥ i daw $
St R

9 # | FH-61/FA-A HYA w8 TE 2/
(@ 133
(b) 233
(c) @ 2

(d) a9 1
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104. TEi-1 F1 -1 | gafea ity i gt &

= g e g2 w1 WM W I R
Heft-1 -1
(erfrferan) (srfuferar =1 @w)
. CH4 +20, — 1. =&
CO, +2H,0+ ™1
3Ry
. Mg +H,S0, — 2. fafowam
MgS0, +H,
. 2NaOH+H,S0, —» 3. fawumm
Na,SO, +2H,0
. NaCl + AgNO; — 4. IerrERr
NaNO, + AgCl
e :
@’ B ¢ D
1L-"3 G2
) A B C D
Y ks Bowl2
grR TMe> €D
Reik 87 N8R g
@ A B . C."D
Qs Sl gl ¥ By

105. Fr=fafaa ot w few it

1. dRfimm FEHe w gba o iR

I & A -8 H9F G &7
(@ ¥ 1 3R 3
(b) *ad 2 3R 3
(c) Fad 1 3R 2
(d 1,233



102. Which of the following triads was not 104. Match List-I with List-II and select the

given by Dobereiner? answer using the code given below
the Lists :

(a) Ca, Sr, Ba List-I List-II
(Reaction) (Type of Reaction)

SR, 3 A. CH, +20, — 1. Combustion

© N, P, As CO, +2H,0 +

=2 heat and light
(d) Be, Mg, Ca B. Mg+H,S04 — 2. Double
MgSO, +H, displacement

C. 2NaOH+H,S0, — 3. Displacement

103. Consider the following statements : N eyt a0

D. NaCl + AgNO, — izati
1. The circulation of nitrogen from the &3 % Nudmiintion
: . ; . NaNO, + AgCl
inorganic compounds in the soil to
form protein in plants and animals Code :
and back again is known as the (@ A B C D
nitrogen cycle. 1 3 4 2
: : @ KB EF 5D
2. The preparation of ammonia by 1 4 3 2
Haber process is an endothermic © A B c D
reaction. 2 3 4 1
3. Urea is synthetically made by the (@) 2 4B :(3: ?
action of ammonia and carbon
dioxide under high temperature 105. Consider the following statements :
and high pressure. 1. Potassium carbonate is a salt of

a weak acid and a weak base.

2. Ammonium nitrate is a salt of

Which of the statements given above a strong acid and-a weak base.

is/are not correct? ; g
3. Ammonium acetate is a salt of

a weak acid and a weak base.

(@ 1and3 Which of the statements given above are
correct?

(b) 2 and 3 (@ 1 and 3 only

o] 2 ety (b) 2 and 3 only
fc) 1 and 2 only

(d 1 only (d 1,2 and 3
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106. ¥ifthl % Frfafaa fra fagm #1 sw@m g&

¥ A qEETR | B s R, S oo Rl
frem ufsen 27

(a) ¥R (Resonance)

(b) TN H FAAWGY (Superposition of

waves)
(c) TR 99| (Doppler effect)

(d) v T (Standing wave)

107. F=fafes & @ F9-w1 fag 98 sqa@ & f&

T=H THYEl (magnetic monopoles)
Hfte 78 87

(a) TG #1 fm
(b) = %
(c) uTHA 1w

(d) ¥R % fEm

108. Tt dAegada et & ey 9% (B-H) &

HF geq & F1 i &7
() FfoEwan g
(b) Toargrassa 6t wm

(c) WFTH (lagging) =t HiHl

(d) AR e

FKKB-O-GAIT/39A

109. FRA % F@ 0@ = g e w snafa

??

(a) FEATTER 1 wom frem
(b) Fearfaeht = fida fam
(c) S o Tafertor fem
(d) @-sfi=a fam

110. 5@ & #1 yHw (4 wHw) o Beprim wiw

% fron w ggar }, @ O %1 wF §T gW B
? R Wwgn ww s ) Prafefea @ @
FH-H1 59 U9 I Ggfed §9 F g9iar 27

(a) TEdT (Reflection)
(b) f&ad (Diffraction)
(c) 39EdH (Refraction)
(d) w#WR (Dispersion)

111. HHa 39 § gafta Frafafaa S0 & @ #9-m

FY T 7

(@) Tiwe-3ft I | fifga =afw F fog fh
R A T F ghafers W F 3 F=a
(W) B R

(b) Trwe-3fe 3 = = ¥ w il &
T 3 foman s gean R

() T[-3® Aw ¥ difea =afr & fou foeht
e it axg =1 wiifem W & 6
FZa (Frw) B )

(d) F-3E A F fFh =@ F = smard
o4 g 3 TR s gt R)



106. Which one of the following principles of

physics is primarily used in sonography,
a medical diagnostic process?

(a) Resonance
(b) Superposition of waves
(c) Doppler effect

(d) Standing wave

107. Which one among the following laws

states that magnetic monopoles do not
exist?

(a) Gauss’ law

(b) Newton’s law

(c) Pascal’s law

(d) Ampere’s law

108. The larger area under the hysteresis

curve ( B-H) of a ferromagnetic material
depicts

(a) maximum magnetization

(b) extent of demagnetization

(c) extent of lagging

(d) minimum energy
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111. Which one

109. The working principle of refrigerator is

based on the

(a) first law of thermodynamics
(b) second law of thermodynamics
(c) Planck’s radiation law

(d) Rayleigh-Jeans law

110. When sunlight (white light) falls on

a triangular glass prism, a band of
colours called a spectrum is obtained.
Which one
represents this effect appropriately?

among the following

(a) Reflection
(b) Diffraction
(c) Refraction

(d) Dispersion

among the following

statements related to human eye is

correct?

(a) For a person suffering from
short-sight defect, the image of
a distant object is focused behind
the retina.

(b) Short-sight defect can be corrected
by a converging spectacle lens.

(0 For a person suffering from
long-sight defect, the image of
a near object is focused behind the
retina.

(d) Long-sight defect can be corrected
by a diverging spectacle lens.
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112. freft foeq a9 3990 (heating device) % He :
e F fig RAvETmR 40 VR, SM e Ea @

2 A H ym o ®) AR fava A 140V T @ AL LB JRG S
=gl fn e, @ qre Iy g o W oum 2 AN 8
F1 w8l 7 F=ferfea & @ F9- 87 S G N
(@ 7A g 1. uae 2
(b) S A ) A -BLET B
2SR Sl . 5L
fc) 4A _
[d 2A (. A*: B Le. B

113. vFEAfM &0t (positively charged ' u
parﬁcles)ﬂﬂ%ﬁﬁﬂrg'i,qnﬁﬁﬁq‘q,m IIS.WW#WM%Wﬂﬁﬁﬁ%ﬁﬁ

? 2w A 3R @ R e SR, FRRE ol R foem Hifv

it (ne_gatively charged particles) 1 1. @4 Wfaed  (tensile stress) 3R

o fogs, @ i B, <fm @ sw A wrgeed g (longitudinal strain) %

SR W W@ R oW Hew § Pefafe d @ 9T ! Fh 99% (bulk modulus)

FH-T 9 R7 ¥ w9 # ufesnfi o st #)

(@) B, A v fa&fia g 2 2. wEgies Ufded (hydraulic stress)

(b) B, A% R fadfia ) A FW wwghos ff (hydraulic
strain) % 3PYM H AT WU

() BFRH AN fagfia g ) (Young’s modulus) %l Sl 81

(d) B # Ar g da 2 3. 39&9 Ufase (shearing stress) 3R

wa A9e9 9% (shearing strain)
% I H FHSRAT HUF (modulus

114. -1 F G-I @ gafer Hifdg o gl &
M g 7g 2 #1 A AW IR g of rigidity) &l STl 21
-~ o 1
; : \ ) (@) Faa 1 3R 2
A. e 1. <TeH 3R e =FaHton
B. dRq s 2. @& % (b) FEA 2 3R 3
C. uig Y’ 3. wwael quvil g W () “¥am 3
R o (@ 1,2%R3
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112. The potential difference between the Code :
terminals of an electrical heating device
is 40 V, when it draws a current of 2 A (a) A B C
from the source. Which one of the 2 4 1
following is the correct value of current
drawn by the heating device if the
potential is increased to 140 V?

wuo

) e Iy Wert Y ;)

(@ 7 A
@) S A ) Aol Ce P
c) 4A s SRS T
(d 2 A

(d A B & D
2 1 B 3

113. A beam of positively charged particles,

say A, is going from north to south.

On the other hand, a beam of negatively

charged pa_rticlcs’ 3ay B' is going from 116. Consider thc following statements

south to north. Which one of the regarding mechanical properties of

following in this respect is correct? solids :

(@) Bis deflected towards A. 1. The ratio of tensile stress to

(b) Bis deflected away from A. longitudinal strain is defined as

, bulk dulus.

(c) B is deflected upwards. oy <o ol g

(d) B is deflected downwards. 2. The ratio of hydraulic stress to
corresponding hydraulic strain is
called Young’s modulus.

114. Match List—ll with List-II and select the 3. The ratio of shearing stress to
answer using the code given below corresponding shearing strain is
the Lists : called modulus of rigidity.

List-I List-IT
(Device) (Phenomenon) Which of the statements given above
A. Periscope 1. Conduction and is/are correct?
convection mini-
mization (@ 1 and 2 only

B. Lightning conductors 2. Moment of a

force (b) 2 and 3 only
C. Thermos flask 3. Reflection by

plane mirrors (c) 3 only
D. Levers 4. Static electricity

(d 1,2 and 3
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116. Ffafaa § @ FR-H FgR 9 T8 TH 119. FrfaRad w faam Hifsg

. 1. Y AHA
(a) W& (Prolog) 2. N Hel HE
(b) C++ 3. g 3ud
¥ Fu A h ] i
(c) T (Java) ?Nﬂ?ﬁ iy (cache memory)
(@) RgA (Fortran) (@ Faa 132
() Fa@ 2 3R 3
117. frefafes & & =W-w, Fow  ghem
(Artificial Intelligence) &1 3TN 27 (c) %*aa 13K 3
(a) <TEE YEYH WOTTEA! (d 1,233
Hiqifen faeen
e 120. =l fawew & 1 wfmemge fras anges 27
i . (@ 1000 feamEe
(@ Tz . (b) 1024 FTETEZ
(c) 1200 FETER
118. 32 a1 VZH & HAU F WA & U FER
fren & fafim sriafes w2t = emom & el (d) 10000 fFeiETge
¥ fore wgw o't ¥ = W (wgem) ¥ fou
et v 1 'Y
121. el W el oft wom 1 w8 Al @) S
(a) & 6 g1 # B T A afeds fees gwfaa
B 87
(b) (@) gzt ¥ woia iy
(b) T
(¢ TR
(c) <A BT G
(d) =8 (@ ve=h A o i wogwE
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116. Which one among the following computer

languages is the oldest?

119. Consider the following :

1. Small memory

(a) Prolog 2. Less expensive memory
(b) Ct+ 3. Fast memory
Which of the above are the
(c) Java characteristics of the cache memory?
(d) Fortran (a) 1 and 2 only
(b) 2 and 3 only
117. Which one of the following is an (¢} 1 andigsonly

application of Artificial Intelligence? (d 1,2 and 3

(a) Database management system

120. 1 gigabyte in binary system is equi-

Operating system
() P i valent to

. ;
(c) Natural language processing (a) 1000 kilobytes

(d) Register (b) 1024 megabytes

(c) 1200 megabytes

118. What is the correct term used for a set (d) 10000 kilobytes

of wires used to connect different
internal components of the computer
system for the purpose of transferring 121. The seasonal variations in the amount

data as well as addresses amongst of solar energy that any place on the

them? Earth receives are influenced by
(@) Hub (a) the speed of rotation of the Earth
ollution
(b) Port (b) p
(c) cloudiness
(c) Router
(d) the inclination of the Earth about
(d) Bus its axis
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122. TFR Fa39F Th HAR-GR @Y 2 W

frfafes 4 ¥ o wam 5 oo i
#E4aEl  (national action) R IEIFH
Feam I TG Y Hdl 27

(a) HS
(b) TSI
(c) 3mfH
(d) e Td wEFfd

123. Searg giEid W AR-a@R 39a (IPCC) %

o1 A frafafiad s ® fEr fifsw

1. I8 Vo9 ufEdd § "etvya fagm &
AHE FA (assessing) F fow
s fem )

2. 3W a9 1988 ¥ fyrg dum-fagm wmeq
(WMO) grr wrfue femam T o)

3% § A F-91/A9-8 F9 wh 2/R7
(@ Fa4 1

(b) FadA 2

(c) 1 3R 23M!

(d Adq1MMIE 2
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124. ¥RA & W@ SR @&l # Fefafad 5 | @

ke /27

1. 94 2030 @& e 19 3cqsiq digar |
33%-35% @l HH

2. WR-SEmA A S &¥al § 500 GW
& i gfe

3. @9 2070 % Y&-IF I (net-zero
emissions) WTH &1

= fw T g2 M wEm = IW gAY
(a) Fa@ 132

(b) ad 2 3R 3

(c) 1,23MR3

(d) Faa 1

125. F=fafaa § ¥ Fw-d faeey g 78 27

(a) \EH SEATFES
(b) i
(c) TELH HATTES

(d) wgtee |



122. The

Ramsar Convention is an
intergovernmental treaty which provides
the framework for national action
and international cooperation for the
conservation of

124. India’s key climate targets include

1. reduction of 33%-35% in
greenhouse gas emissions intensity
by 2030

(@) fish 2. increase in non-fossil fuel energy
capacity to 500 GW
(b) wildlife
3. achieving net-zero emissions by
(c) wetland

2070

(d) art and culture Select the answer using the code given

below.

fa) 1 and 2 only
123. Consider the following statements about

the Intergovernmental Panel on Climate
Change (IPCC) :

(b) 2 and 3 only

1. It is an international body for () 1,2 and 3
assessing the science related to
climate change. (d) 1 only

2. It was set up in the year 1988
by the World
Organization (WMO).

Meteorological

125. Which one among the following is not

Which of the statements given above a greenhouse gas?

is/are correct?

(a) Sulphur dioxide
{a) 1 only

() 2 only (b) Methane

(¢) Both 1 and 2 (c) Nitrous oxide

(d) Neither 1 nor 2 (d) Fluorinated gas
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